MCJA %hiER R

ER (JaR ) mBREL mindman
R
ik MCJA-3*
= fEBI = B [ L i
sirpate (mm) [ 12]16]20]25]32]40]50] 63 | 80 [100
B L R M5%0.8 Rc1/8 | Re1/4 | Re3/8
_ > EEENti 2R
R S o ey 28 | 0.05~1 | 0.03~1 0.02~1
R\ W (MPa) migy | 02~1 [045~1| 04~1 |
‘ti L) 15 WP
v RN —5~+60°C ( A°fik )
" 5 i ] 50~500 mm/sec
SR () RCB, RCE, RCE1, RDEP

* [ERSSHAR F52 8-10E (RCB), 8-12E (RCE), 8-13E (RCE1),
8-181 (RDEP) - RDEP{## AR 812~050

HE A
MCJA — 32 — 40— 10x25 M —[]

BU5R RELAE M: Fit BLE 4R 5F
% M5%0.8
(i) (5EH 012~025)
3: ZTE T 1 x 1718 2 I8 Re 7
1T 1 BT G: G4
1R 2: KR NPT: NPT %
(3#ifT] 932~2100)
fEENS, /4R im A B A TR AR B THE -
1’%% EE% éﬁﬂﬂ *2. ?F%%ET%%T%?HE% 0-7 E °
¥ P
3|1 | (== wmsir BT — EHE TR
= pu S ATTHE (mm)
3|2 M RIS -
(== ST P {712 (mm) P e
3|5 |[ (=llee=| smmmsi 012,16 5,10,15,20,25,30 130 | 300
920,25,32
3|6 | [ (P=tbe= | smummpr 020506580 | 5101520253035404550 | 130 | 300
2100 5,10,15,20,25,30,35,4045,50 | 120 | 125
* JEBI TR RH « AR AR
[=1 3 A
B — ERHE TR
E AN 772 (mm)
012,16,20,25,32,40 | 5,10,15,20,25,30
050 5,10,15,20

© JEAEAEF TR R B > GRAEH AL

M mindman



MCJIA Wik R BB - %0

SEE (AR ) mBREL

QIoI0p

294 4998

(=

mindman

H——t 1
(EHIE - FEERAS— R
EEREHR FEGHE | MER | EnE C?C‘? Q@’ ’ 17?@ @ @? DAE
| | e | o | me | T M ;Z L;:u /] L;:J
PR R 2 1 2 % 4 2 ‘ = re
212 |KSYR6 |KSYR6 |OPA-12 [ OPA-12 | sS-12 | daxwi ] ‘ ‘
216 KSYR-6 KSYR-6 OPA-16 OPA-16 S-14 ddxw1
. JIEEN T L N AT
220 KSYR-8 | KSYR-8 | OPA-20 OPA-20 S-18 d6exw1 / \
225 KSYR-10 | KSYR-10 | OPA-25 OPA-25 S-22 d8xw1 ——
232 |KSYR-12 |[KSYR-12 |OPA-32 | OPA-32 | d28xw2 | S-9 — — T 1
240 KSYR-16 | KSYR-16 | OPA-40 OPA-40 S-36 S-9 T T
250 KSYR-20 | KSYR-20 | OPA-50 OPA-50 | AS-31 S-16 (55 & .
263 KSYR-20 - OPA-63 - AS-35 S-16 = > HpEs
280 |ORA-25 — |opaso — | As41 | d2oxw1 ”TE‘A%TJ@{':W
2100 SDR-30 - OPA-100 — S-95 S-26 125@*33*4{41
— - e EEEEHE
FEHEEBME @12 |CP-MCJA-3-12(M)
AR o | R R 216 | CP-MCJA-3-16(M
No. e 12|16 |20 | 25| 32|40 | 50 | 63 | 80 [100| i Wﬁﬁg) ({Wg) e ToP CJA-3-20§M§
1 [B& EEE 1 [ ] 225 |CP-MCJA-3-25(M)
2 | FLAI C BUHIER (Bl ) Tﬁﬂﬂl TR |Tf*§|ﬂ| S 1 o @32 | CP-MCJA-3-32(M)
3 |H#LER NBR 4 (] (] 240 |CP-MCJA-3-40(M)
4 | smrspy — | NBR 4 [ [ ) @50 | CP-MCJA-3-50(M)
5 | iGZEEE NBR 2 [ ] (] 263 | CP-MCJA-3-63(M)
6 | iGsemEER NBR 2 o () 280 |CP-MCJA-3-80(M)
7 | wed 2 o 2100 | CP-MCJA-3-100(M)
; - P NS T.H4i SCM 2 (] M: [
8 |WEEERR w2 Ao TE#i SCM 2 ° A,
o |iese 1 Wi 5 TS ( BETESRIRRT ) 2 -
i RHE | R0 | T ( Singe i) 2 Pt EHLE
10 | #4 ¥k 2 @12 | PS-MCJA-3-12
11 | izt NBR 2% ® [ 216 | PS-MCJA-3-16
12 | Wiz & 1 [ 220 | PS-MCJA-3-20
13 [ imstime — | B4 2 [ 225 | PS-MCJA-3-25
14 | mgrees Retib 2 o 232 | PS-MCJA-3-32
15 | g SEMAR SWP = 2 [ 240 | PS-MCJA-3-40
16 | Wy AR — 1 [ 250 | PS-MCJA-3-50
17 | gz Fek 1 ) 263 | PS-MCJA-3-63
18 | g e T E$H SCM 2 [ 280 | PS-MCJA-3-80
19 | 7LA C Avrm (0 ) e T 1 [ 2100 | PS-MCJA-3-100

. R EE R R BRI - AT R T -

M mindman

*2. T.H§l SCM

3 S - R

TERAVEE =1 -



MCJIA SBRF — %/ S 612~0100

HE (AR ) mBEEI

ZA+1TFE 1+ {112 2
S+171E 2 S+ 171 1
c 3-EE

T

o
B
oG ::N
o]
-
o | H]
.
N
©
Pe_

oY
X

X

PA PA PA

ZA+ 7R 1+ 1714 2

mindman

LH H S+17f¢ 2 S+{71E 1
ov 4-N Bx4 Z
OE1 4-oM Hif
\ | %
5
% Jam[aa] c[p| ee [E1|E2[F 6| H [H1] K m B oL Ef R AL
12 [10]12]1 | 6|wsx08 [163[ 23] 5|1 |5 [17 | 3 BTG - 1Rk 100mm
16 | 10 | 12 [15 | 6 [m5%08 [198] 28 | 5[ 11 | 55[17.5] 3 AQ AR : TR 110mm
20 | 13 |15 |15| 8 |M5%x08 |24 | — | 6| 15| 55205 3 AM
25 |15 [ 17 [2 |10 [m5x08 |28 | — | 8|17 | 6 |23 | 3 8\ 912~2100
32 15183 |12 |[Reti8 ()34 | = [10]22] 7 [25 | 3 ) —
40 | 25283 |16 [Rct8()|a0 | — [14 [ 28] 7 |35 | 3 o1 ,697
50 | 25 | 28 [4 | 20 |Rc1/4(2)|a8 | — |17 | 38| 9 |37 | 3 I =
63 | 25 | 28 |4 | 20 |Rc1/4(2)[60 | — |17 |40 | o |37 | 3 -
80 | 30335 |25|Re38(3)|74 | — | 22|45 [11 |44 | 4
100 | 35|38 |5 |30 |Re3s(3)|o0 | — |27 |55 |12 |50 | 4 Al
1. NHSREA TR 5mm I » EE=M5x0.8
*2. AU TR Ry 5mm [ » EE=Rc1/8
*3. NHSTEA TR 5mm [ » EE=Rc1/4
2 R | W
e KK LH | M N PA|PB| Q TIVIVIIX|Y | Z T
12 | M3x0.5%6 % — | 4.3[06.5%4.5 % , M5x0.8x7.5 i 656 |M5%x08 | — | 25|32 32| 6.3[1 |17 | 39 |27 | 59
16 | M3x0.5x6 % — | 43| 06.5x4.5 % , M5x0.8x7.5 7 |65 |msx08 | — | 29| 38 | 3.2 6.3[1 [185| 425285 625
20 | M4x0.7x8 % — | 23] 06.5x4.5 % , M5x0.8x7.5 75| — [Mext.0 | — | 34| — | 32| 6.3[1 [195| 445]/205] 645
25 | M5x0.8x10 & — | 5.1] 09x7 % , MEx1.0x10 8 | — |mex1.25 | — | 40| — | 42| 78[1 [21 | 48 [31 | es
32 | M6x1.0x12 & 48.5| 51| @9x7 %, M6x1.0x10 9 | — |M10x125 | 14 | 44| — | 42| 7.8[1 |245| 56 |345]| 76
40 |M8x1.25x12%F | 56.5| 6.9] 210.5x8 % , M8x1.25x12 i 10 | — |[M14x1.5 | 14 | 52| — | 62[10.3[1.6 [26 | 59 |36 | 79
50 |M10x1.5x15% | 70 | 6.9] 011x8.5 %, M8x1.25x16.5 /& 10 | — |[M18x1.5 | 19 | 62 6.2[10.8(16 [28 | 65 |38 | 85
63 |M10x1.5x15% | 83 | 6.9| 011x8.5 %, M8x1.25x16.5 & 12 | — [m18x15 | 20| 75| — | 6.2[10.8[1.6 [32 | 73 [42 | 93
80 |M14x15x20% 102 |10.5] 014x10.5 %, M12x1.75x12 13 | — [M22x15 |27 | 94| — | 82[138[16 [41 | 93 |51 |113
100 |M18x1.5x20 % |122 |12.3| 018.5x13 B , M14x2x17 % 17 | — |M26x1.5 | 26 |114| — [102[17.3]2 |51 |14 |61 |134

M mindman



	1_規格
	2_內部構造及主要零件
	3_複動內牙型 φ12~φ100

